
20 40 60 80 100 120 140

−
4

−
3

−
2

−
1

0
1

2

Cluster: 0210 ptr; resid: 0.20; r/c: 20/79

x.range

upstream meme PSSM #1; e=0.00083

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.9

1 3 5 7 9 11 131 3 5 7 9 11
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10757

34526

19413

27851

28147

3366036226

44291
4497150701

21929

42104

12254

12963

13119

13174

32272

36420

41252

8058

string −500 −400 −300 −200 −100 −1
50701−0.19
10757−0.22
44291−0.27
19413−0.34
36226−0.39
21929−0.40
41252−0.41
28147−1.08
34526−1.50
27851−2.77
42104−2.79
32272−3.08
33660−3.99
36420−4.47
44971−4.59
12254−4.80
13174−10.04

8058−10.04
12963−10.18
13119−10.18

log10(P) upstream meme1 2 log10(P.clust)=−3.59; 20 seqs; 20 uniq
c(0.5, 2.5)
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